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| Y H

*)fx % +2 -‘-‘O —H x-1=28%8
(x-4)(X=T7)=0 =4 4+-1 =—1]
L{-=O or X-7=0
'«4 'x--'?
b) '>&-—‘7x—30 O 8B x10=-30
(X+3)X-10)=0 3. 4+7l0= -7

X+3=0 or x-10=0
X=-3 X =10



Q) Qoa +n P T -,

+S O _ A x 10 =10
(+| +S) O 1 4+ 30 = ]
6‘)2 +1)+S 2&“) =0
+1)(H+s)
Q:%\-;—O or B+5=C§
> v
=%

—
.-""'- -....“‘

d) '—H—," + 1L~ 15=0 * Decomposition
4425592415 =0 =8 x 1l ==-¢0
(4258)H2t15)=0 25 vy 12 =
+(H4:-B)+3(4+-5)=0

(4t-5)(t+3) =0
44-S=0 or ++3=

s O e
[ s

t-g
4



2.
{Q-d} o) X2=121=0 (Difference of cquxqrcs)
(x=1D(x+11)=0
X=11=0 or X+11=0
X =11 =-1]

b) ¢2-100=0 (Difference of ScLuQres)
(Br-10)(Br+10)=0
QSr-10=0 or Ir+10=0

Pr=10 r=-10

3 3
r= |O = -10
3 | 3



¢) X*=18%x=0 et Factor )
'x('x 1S)=0
X=0 or X-13=0
=l5

d) 6}1"+L1‘8 =0 (Common Factor)
'L»i—lQ O

= or +16=0
%%' 3 J y=-lb
y=a



6. Determine ‘H’Le, roots of each ec&to-ﬁﬂu'on-

a) Su ~lou-315=0
g U'=-2u - 63)=0 1
(u+7 Xu-9 )=0 )

U+ T1=00or U-9=0
u=-7 u=9

b) O.25%*+1.5% + 2
0.25 (x? +Q'x+%
0.25 (x+4) (_m—z)

X+4=0 or X
xX=4

"W

» =+
il



d) _(%_K%SK-I-JQ..S:O

- 1 (K*+ |OK+95)=0 &S x5.=J95
o J S +5 =10
éL,Q{+'5MK.+5)=@
1 (K+3)*=0
)

+5=0
KK:—ﬂS



. 'T)c r'c( ph of a guadratic function
hasx m+ercep+s Cg’cmd—lé) Write a
qua rcrl'nc: ecbua-hon hot has these

roots.

Y= a (x-r)(x-S)

\.PL i a=423%
Ssum h%)('x 12)

Q’XJrSJQXHcD)
= ¥ 24+ 19X+ SX+ 60
'\\j= X*+ 11X+ 60

Qucndmﬂc €%o+|‘on => X+ 17X +60=0



10. Tdenti€ }‘ and correct any errors
N The o ouomfj Solution.

Sa*-100=0
Sa2= 100

e E=TeOC
\ET"-‘%QS o

Q=93 &—Kyror
@rrec—\-\'on:

5a2-100=0
%g*-_—. 100
5

=158

Jo0

0
0o
H—



11, Tdentifv and correct the errors
In Hhis s¥lution:

Me2-9r=0
(2r=-3)2r+3)=0—> Exror
Ir-3=0 or Vr+3=0

Dr=3 Qr=-3
r=|{5 or r=-1.3
@rrec+{0h3 Me2-Qr=0
r(4r-9)=0
r=0 oc H4r-9=0
Mr=9
A 4
r=9
L+
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